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ENGLISH VERSION

As per the instruction no. 1 of page no. 1

Symbols used in the paper have their usual meaning.

Draw neat and clean diagram wherever necessary.

Figures to right indicate full mark.

Non-programmable scientific calculator can be used.
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Give the following answer in short.

(1) What is the momentum for a particle trapped in a box ?
(2) What do you mean by free particle in quantum mechanics ?
(3) What is meant by Eigen value of a wave function ?

(4) If wave function y = 2x%, then calculate its probability density
for x = 1

(5) Why the defect of coma arises in a lens ?

(6) Why Plano-convex lenses are used in optical instruments ?
(7) What is Aplanatic lens ?

(8) Spherical aberration due to concave lens is ..........

(fill in the black) (positive, negative, zero)

Answer any one in detail.

On the basis of property of linearity of Schrodinger's wave equation
describe, superposition of wave functions. Using it, discuss experiment
of electron diffraction from two slits with necessary formula.

State the properties of wave function y. Applying Schrodinger's wave
equation derive formula of possible energy states and wave function
for a particle confined in one dimensional infinite potential box.
Discuss the results.
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(B) Calculate any one. 4)

(1) A particle is moving in a one dimensional box (of infinite height)
of width 10 A°. Calculate the probability of finding the particle
within an interval of 1 A° at the center of the box, when it is in
its state of least energy.

(2) Find probability that a particle confined in one dimensional Box of
length “L” is found between 0.45L and 0.55L

Q-3(A) Describe any one in detail. (10)

(1) What is spherical aberration ? Discuss various methods to minimize
spherical aberration in short.

(2) What is chromatic aberration ? Derive the condition for achromatic
combination of two thin lenses in contact with each other mounted
coaxially and parallel to each other.

(B) Attempt any one.

(1) Radii of curvature of two surfaces of a lens are 40 cm and 20 cm.
If for red and violet light the refractive indices of material of the
lens are 1.563 and 1.641 respectively then find distance between focal
lengths of the lens for red and violet light

(2) An achromatic object lens of a telescope has focal length 90.0 cm
If the dispersive power of two lenses are 0.024 and 0.036, then
calculate the focal length of each lens.

Q-4 Attempt any two of the following. (14)
(1) Write note on operators and expectation values.
(2) Discuss the field of curvature and distortion for an optical system.
(3) What is aplanatic point ? Write note on aplanatic lens.

(4) Obtain momentum operator and total energy operator using equation

of free particle wave function.
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